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LA—71—2024

FACULTY OF HUMANITIES

B.A. (Third Year) (Fifth Semester) EXAMINATION

APRIL/MAY, 2024

PHILOSOPHY

Paper IX

(Symbolic Logic)

(Thursday, 18-04-2024) Time : 10.00 a.m. to 12.00 noon

Time—Two Hours Maximum Marks—50

N.B. :— (i) Attempt all questions.

(ii) All questions carry equal marks.

(i)

(ii)

1. Explain various definitions of logic.

Or

Symbolize the following propositions (any five) :

(i) The earth and the moon moves around the sun. (M,O)

(M,O)
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(ii) It is not true that today is Sunday. (S)

(S)

(iii) If I do hard study then I will get good marks. (S, M)

(S, M

(iv) Saniya will take the education in arts or in law. (A, L)

(A, L)

(v) If and only if Aarti comes to college then Meera will come. (A, M)

(A, M)

(vi) If I got the job, then my mother will by happy. (J, M)

(J, M)

(vii) Mohan is handsome but not clever. (H, C)

(H, C)

2. Explain the importance of symbolic logic.
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Or

Determine by the truth-table method whether the following propositional forms

are tautology, contradictory or contingency (any two) :

(i) (P . Q) �  P

(ii) (A �  A) �  (~A �  B)

(iii) (X . Y) . (X �  ~ Y).

3. Explain the kinds of proposition.

Or

Prove the validity of the following arguments by direct proof (any two) :

(a) (1) A� B

(2) ~B /�NA� E

(b) (1) P�Q

(2) Q�R

(3) (P� R) �  (M . N) /�M� S

X114YD32BF2X114YD32BF2X114YD32BF2X114YD32BF2
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(c) (1) (M �  N) �  (O �  N)

(2) (N �  T) �  (X . Y)

(3) ~ O

(4) M /�  X

4. Explain the nature of deductive proof method.

Or

Write the basic truth tables of compound propositions.

5. Write short notes on (any two) :

(i) Rules of inference (any five)

(ii) Rules of truth-tree method (any five)

(iii) Proposition and propositional form.

(iv) Argument and argument form.

(i)

(ii)

(iii)

(iv)
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